111 FEREMERNSFEFRSFRIEMBIRE

=FIEE B £ &A(JT)
EEFET 150000
SRERTEZE 175000
RIATEFE 113664
3 51 I 3R 150000
=R EENIEEHEE 187200
BEE4FRMEE TS 102000
IR T 200000
2 30 == 10 03¢ 197725
T mERREAT 170000
BEHMEES 200000
EiB1EET 188000
aEEFX{EM 200000
AEALE 200000
INEOBERESE 150000
NZEmEREIE 200000
AINVEFAT 188000
ENEBEELFET 200000
RAAIEETT 120000
T 150000
AR EE S =] TN 150000
SZPBER LTEZE 200000
ENBFEBIRAT 200000
EMRELFET 200000
LSREE 200000
MR T 200000
TRERT 200000
HEEmMBIRAT 114000




7% FEFEEE 150000
RV 108000
3 Intk=2)5 90000
AIBEmiT 185000
EIRSHEEETT 50000
REFREAT 108000
gl A0 1T 175000
KB EERE 1T 150000
REHREEARBRARAT 194000
FRE1T 150000
FERAREAT 200000
A{TERB RN BIRAT 200000
—h =B FE 200000
= R/VEE 126000
GII=E23:1 138000
BEER 193750
BINBEEPFEM 150000
BAEEREERE 140000
ELINZEEN{TIHBR AT 200000
B fEnpEeE 197750
|EZE 31T 150000
B IR 1T 110000
FRARF =P =IE 54000
PESIEL BT 151000
AR ARERTT 150000
JRER/NFEBE1T 150000
BEAERELEFEM 97400
RS Eh 199500
RikI9ET 150000




xIEAREMTT 150000
&R ERE 150000
Fkarths 92000
BRERIFBERRANBEIE 91800
% B 12 52 18 200000
FaEBREERRAT 140000
FABTIE 150000
TEBT 200000
REETEE 200000
BIEEEMR 150000
B APIEEE 150000
NeEEiSE 174489
i — RIS 136299
o] EG 78 AR B 158000
i 50 15 52 77 10 5k B8 78000
CER I 150000
REPIEFET 150000
ZE =G 150000
18 8 e A 1 = 150000
X =S RERIE 171900
PN S 150000
A0S 200000
RERYEBA/NZIE 150000
SRZBMWARLT 200000
FEKIE 150000
o2 SEER RS 158000
HrthERET(EE 105000
SMERREE 108000
B R EEREIRNBIRAS 200000




fR iR INERS & 54000

FEAEAT 150000
=2 0BT 151800
H73E 2 88% 99075

RN EIETT 151800
RERERGARAT 150000
SEEFE 136750
REREN 114000
& X K i 150000
FELFEM 155664
BBV EE 150000
RIZERESABRAT 175000
ESHBITETT 150000
(hikEEE1T 150000
s AEEREE 77250

IR T1EZE 165200
LR FIRER 150000
KEHT5iE 2 EER 182000
WriEE1T 25000

BmTrEITH 150000
ERTEAREAT 117000
RIEEmT 81027

MR BN 152400
TERSEELEE 155000
K EERE 163500
5T 132000
{CEE B S RENS 48000

SAMBESNEN 150000
ER=RBEE 190000




AEBET 60000
F3 2 e ik it g T35 50000
BEEAEFRARAT 175000
=k /KETT 150000
HiZ/NZh R IXEPE 152725
BEEET 157420
AEE & 119000
% oLk I8 158000
S PR S = 138000
AESHE 200000
Bl AR 200000
Egg =] EYNGT 50000
CEEtEEFE 145100
= B i F 2 B 150000
S EENE 150000
BABEEEX 150000
R EVHRBIRAT 125000
RIEEEM 200000
[EHfRERL T (EZE 150000
B EFET 181900
TCRRET 104925
MM T EHEEE R BIRZ 193000
BEREFXRBIRAT 89100
ZimANABR AT 197619
AREERRS =W 113500
ZiEEAR AT 176000
(FELEET 120000
AHBR= 110000
I5E&4%h 150000




BIRBENAR AT 150000
[ BT S an 150000
& ot 61748
BAhE1T 158000
{EZz KIZ/\IZ |5 90000
HBEEx=R 177500
FEEEERERTFEM 150000
R Y XEITE=E 120000
Ri Sl 4RI 4T 150000
i 44 (X 8 132000
MR EREFEM 93527
EEEEM 150000
MBMIETIE=E 190000
R/ NEER A RS 50000
SRR EEE 195750
BHelFEM 120000
ZEHBHN/NIZIE 78000
AFE T 31500
RELBEE 200000
RNEEREREEE 90000
HEEFEM 195500
IR FET 150000
HIn D 1E =1t 150000
HEMETEE 26250
BERHESHTEE 150000
RNFEET 90000
#EN 1T 150000
LEATFEMRNTBEAT 150000
Rz & i o 150000




{EBTEFET 180000
B YRR SR 28000
ZETLFET 114000
BREE 154500
nimEEE 150000
L=z B 150000
BECEIEE 120000
AEnFIEFET 200000
ZXEBEETEARAT 150000
X BIRRDBRAT 200000
EHA TEMBEARA S 26670
HZanil g 90000
SBEEHE 58900
KR BEERIE 58900
EmnBErRS 1T 150000
sEECEIESN 120000
EEEREEHE 150000
oJZ T 185000
RIESUEHBEEARAT 200000
BN EBETT 97320
AR TE E 7KER IS 114000
EERFKABREAT 150625
EBLULTEAREAT 140000
Ei5pe B LIEE 90000
BT 50000
REIFTT 50000
ENERERE 100800
tEEEARAT 159975
REREANEALAT 114000




R EF RS 198000
FHEMMIEE 135600
—REE& 138000
(EEVSE: 132900
I 2 Ik 2 SETUKF 26 27400

E ZPER 195000
21| 5847 150000
NI SRR 120000
N E ] 150000
R EEBERE 146592
{EE R8RS 123400
B 5EE 150000
SERESEIE 90000

ERBITEZFXE 120000
REXZBESHRLT 135249
MIRERET LREARAT 132930
HFEEENT 94800

IR IR 7K B 5l & B 169500
MAEBNEFEAIRAT 150000
EARET 45379

EBIRARAT 120000
ELBERNBRAE 200000
ERYERDEE 182000
RmKZE 150000
BEXNEEEH 104775
MFEFERNBRLT 150000
EHTHERAT 198000
== 96000

Y B ol 133000




miEEEBEEBRAT 195830
— AT 108000
BEEEd 200000
FrIREFEM 157925
EfBERT 108000
o] BE & 5I% 166300
FEBREBEET 200000
mAI & 171000
A X BIEFEM 175000
EEETZNIFEE 139500
BREEARLT 150000
EEBEREERRAT 198929
if & {5 R B BE 75000
KREEREERRIE 25200
MERE 150000
R FUELIE 181500
EEMAREIS 150000
e B 5% 194572
EEME ) 52800
b AR(F 145000
BHEARAT 150000
iR EX 45600
BA=SRETT 156250
FIERSERE TIFZE 96000
ERMIREARAT 144000
PREEAE/NIZE 158000
THEHEARAT 114000
BFRZIRNERLT 135525
NEIEARALT 150000




EBSEUNIERE 150000
HELAR $R1T 150000
U2 R EAEE FNEE 147999
IGISEIE K 96000

BZaelbFEIETT 128000
BEOVEEE 157995
=lEFEFRAT 200000
ol B E RS 58900

NVEBEMRE 58900

FIEAZEN 200000
lg 2 BE 5= 45000

JLECEEE 144000
IR ARREFRHEER AT 150000
R 188000
AT 122000
EEZSEBRAT 200000
RRENBIT 150000
etz inBR AT 150000
A ltbER st T1ELh 72000

EELEFET 200000
Lk 140000
IMVEF 1T 150000
BELET 114000
BREESTHAR AT 150000
S {=BI=EATR ] 158500
ISR E 191000
EEREET 126000
MEN T EZE 114000
ARk 160425




EMAR/NZIE 58500
EREUBRA T 150000
BSEmiE 100000
EREEBTT 50000
ZFo/MzZE 110000
REEH T 161812
BAAEERES 164240
HEFHIFIARAT 168800
RO 36750
g BEMITIERERAT 50000
AR EER 150000
BEMREH 144000
EEXEIRBEE 150000
EE R 158000
SNEERVEE 175000
EMMEIBRAT 157875
ERCEFFERAT 197500
b B 28 A 3 = iR T 26000
HEREEHREEESEE 115000
FASBEEERFET 146000
HEZ SR 165000
2R RBRRZFERAE 72000
SEEEEXERRAT 122000
[EVeATSE 200000
HESEEFRLT 50000
BEIEE 58500
HEFT 200000
fed 7 0 A5k 160400
ERTERAT 49000




§“§}§I1’E§ 163375

RaEBTEE 132000
E.ﬁ#ﬁﬁ 200000
RIERTT 96000
BREZEILIEE 89000
SEMGLRBREESES 150000
£ &REURIRBRAT 150000
= o ERE1T 158000
AN 120000
L% S 154387

A YN 150000




